MODEL 776  PARTS LIST
Qty.

8

CO 0 OO0 00 — 0

— = N W N DN oo
AN 0 0 0

—_— NN e Pt e ek e e N Y

NS "N e NN

N

Part Number
2420NPNO
2420PNPO
24003904
2421PNPO
2421PNPR
2420PNPR
2420NPNR

40000108
40100000
40100001
40100002
40100003
40100004
40200000
40200001
40200002
40200003
40200004
40200005
40200006
40200007
40950002

58000102
58000103
58000104
58000105
58000106
58007760

65025603
65044003
65144006
65944004
65944005

73010000
73010001

85007760

Description
NPN (SOT-23) (R2) transistor

PNP (SOT-23) (MD) transistor

2N3904 NPN (TO-92) transistor

BFQ149 PNP (SOT-89) transistor
BFQ149 PNP (SOT-89) reverse transistor
PNP (SOT-23) (MD) reverse transistor
NPN (SOT-23) (R2) reverse transistor

8 Pin Very Low Profile DIP Socket
Lemo Connector

Lemo Lock Washer

Lemo Solder Lug

Lemo Spanner Nut

Lemo Shield

NIM Connector Block

NIM Connector Shield

NIM Male Elect. Pin

NIM Female Guide Pin

NIM Male Guide Pin

NIM Male Guide Pin Gold Plate
#4 Lock Washer Gold Plate

#4 Hex Nut Gold Plate

Solder Lug

Back Panel
Right Side Cover
Left Side Cover
Square Rail
Round Rail
Front Panel

2-56 x 3/16" Flat Head Phillips Screw
4-40 x 3/16" Flat Head Phillips Screw
4-40 x 3/8" Round Head Phillips Screw
4-40 x 1/4" Fillister Head Screw

4-40 x 5/16" Fillister Head Screw

Stand Off
Captive Screw

Model 776 Printed Circuit Board

Page 2 of 2

Rev.B



